Public Examination Results

The following pages contain the results achieved by pupils and students in the various public examinations entered.

Year 11 GCSE Examination Results 2018

			9-7	/A*-A	9-5/	′ A*-B	9-4	/ A*-C	9-1/	' A*-G/
Subject Name	Entries	APS	#	%	#	%	#	%	#	%
Art	31	6.74	17	54.84	29	93.55	31	100.00	31	100.00
Biology	89	6.64	49	55.06	78	87.64	85	95.51	89	100.00
Chemistry	89	6.52	52	58.43	73	82.02	85	95.51	89	100.00
Citizenship Studies	6	5.83	3	50.00	4	66.67	5	83.33	6	100.00
Computer Science	14	6.36	7	50.00	11	78.57	12	85.71	14	100.00
Dance	15	5	5	33.33	7	46.67	12	80.00	15	100.00
Drama	21	5.9	8	38.10	17	80.95	18	85.71	21	100.00
English Language	210	5.85	79	37.62	159	75.71	188	89.52	210	100.00
English Literature	208	5.72	76	36.54	153	73.56	186	89.42	207	99.52
French	29	5.14	6	20.69	18	62.07	23	79.31	29	100.00
Geography	90	5.47	25	27.78	63	70.00	72	80.00	90	100.00
German	26	4.38	4	15.38	11	42.31	18	69.23	26	100.00
History	120	5.5	44	36.67	84	70.00	102	85.00	120	100.00
Maths	210	5.37	59	28.10	140	66.67	184	87.62	210	100.00
Music	25	6.56	14	56.00	23	92.00	25	100.00	25	100.00
PE	44	4.34	5	11.36	21	47.73	25	56.82	44	100.00
Physics	89	6.91	54	60.67	83	93.26	87	97.75	89	100.00
RE	209	6.12	102	48.80	163	77.99	178	85.17	208	99.52
Spanish	56	4.95	12	21.43	31	55.36	46	82.14	56	100.00
Business	22	5.27	7	31.82	13	59.09	17	77.27	22	100.00
Italian	47	6.28	22	46.81	37	78.72	46	97.87	47	100.00
Polish	5	6.7	3	60.00	4	80.00	5	100.00	5	100.00
Systems	13	4.04	1	7.69	5	38.46	6	46.15	13	100.00
Textiles	14	5.54	5	35.71	9	64.29	13	92.86	14	100.00
Science Trilogy	240	4.89	32	13.33	140	58.33	201	83.75	240	100.00

Year 11 Vocational Courses Result 2018

			D)*-D	D	*-M	/	D*-P	D)*-P1
Subject Name	Entries	APS	#	%	#	%	#	%	#	%
Cambridge National Level 1/2 in IT	8	3	0	0.00	0	0.00	1	12.50	8	100.00
Cambridge National Level 1/2 Child Development	14	5.11	5	35.71	7	50.00	11	78.57	14	100.00
BTEC Level 1/2 Award in Sport	15	2	0	0.00	1	6.67	1	6.67	15	100.00

Year 13 A-Level Examination Results 2018 (%)

A-Lev	el		A* 1	to A	A* to B		A* to C		A* to E	
Subject Name	2018 Entries	APS	#	%	#	%	#	%	#	%
A2 Communications	10	43	4	40	8	80	10	100	10	100
A2 Further Maths	7	44.29	3	42.9	7	100	7	100	7	100
A2 Maths	42	42.86	25	59.5	34	81	38	90.5	40	##
A2 Politics	14	30	0	0	5	35.7	10	71.4	14	100
A2 Product Design	2	20	0	0	0	0	1	50	2	100
Art	11	44.55	4	36.4	9	81.8	11	100	11	100
Biology	31	34.52	7	22.6	13	41.9	25	80.7	31	100
Business	9	30	1	11.1	3	33.3	6	66.7	9	100
Chemistry	24	40.42	10	41.7	16	66.7	22	91.7	24	100
Computer Science	10	42	4	40	9	90	9	90	10	100
Economics	18	31.67	2	11.1	6	33.3	13	72.2	18	100
English	10	37	2	20	5	50	9	90	10	100
English Literature	16	33.75	1	6.25	9	56.3	13	81.3	16	100
Geography	15	34	1	6.67	9	60	12	80	15	100
History	29	35.17	2	6.9	13	44.8	29	100	29	100
Music	1	30	0	0	0	0	1	100	1	100
PE	9	26.67	0	0	2	22.2	5	55.6	9	100
Physics	34	35.88	12	35.3	20	58.8	25	73.5	34	100
Psychology	35	38.86	9	25.7	23	65.7	33	94.3	35	100
RS Philosophy & Ethics	3	33.33	0	0	2	66.7	2	66.7	3	100
Sociology	18	42.22	7	38.9	14	77.8	17	94.4	18	100
Spanish	2	40	1	50	1	50	2	100	2	100
Theatre Studies	9	32.22	0	0	4	44.4	7	77.8	9	100

Percentage figures are rounded to the nearest number

BTEC/CTEC NATIONAL DIPLOMAS 2018 (%)

BTEC/CTEC			o D	D* t	o M	D* to P	
Subject Name	APS	#	%	#	%	#	%
BTEC Art	50	1	100	1	100	1	100
Subsidiary Diploma	30	1	100	1	100	1	100
BTEC Art	45	1	50	2	100	2	100
90 Credit Diploma				_		_	
BTEC Art	81.5	15	75	20	100	20	100
Diploma							
BTEC Costume	41.7	2	67	3	100	3	100
Subsidiary Diploma BTEC Music							
Diploma	95	6	100	6	100	6	100
BTEC Music							
Extended Diploma	135	6	100	6	100	6	100
BTEC Production Arts Diploma	71.4	9	64	14	100	14	100
BTEC Science							
Extended Certificate	27	1	20	5	100	5	100
BTEC Science	F.4		25	1.4	70	20	100
Diploma	54	7	35	14	70	20	100
BTEC Sport	F0	2	100	3	100	3	100
Subsidiary Diploma	50	3	100	3	100	3	100
CTEC Business Studies Extended	27.27	3	27.3	9	81.8	11	100
Certificate	27 .27	J	27.0	,	01.0	11	100
CTEC Business Foundation	46.88	5	62.5	8	100	8	100
Diploma							
CTEC Business Studies Diploma	66.67	13	72.2	17	94.4	18	100
CTEC Health and Social Care	50	2	100	2	100	2	100
Certificate							
CTEC Health and Social Care	75	8	100	8	100	8	100
Subsidiary Diploma							
CTEC Health and Social Care	85	2	100	2	100	2	100
Diploma CTEC Health and Social Care							
Extended Diploma	141	15	100	15	100	15	100
CTEC ICT							
Certificate	12.5	0	0	1	100	1	100
CTEC IT	20	_			400		400
Introductory Diploma	30	3	50	6	100	6	100

Academic Achievement Summer 2018

GCE A-level	2016	2017	2018	Average for last 3 years
Number of students on roll in Year 13	210	189	168	189
A Level pass rate	98%	99%	99%	99%
Percentage of grades awarded at A*- A	20%	33%	26%	26%
Percentage of students achieving A*- B	52%	59%	59%	57%
Number of Students to University	153	146	137	145
втес	2016	2017	2018	Average for last 3 years
Pass Rate	100%	100%	100%	100%
GCSE	2016	2017	2018	Average for last 3 years
Percentage of grades awarded at A*-A (9-7)	29%	32%	36%	33%
Percentage of pupils who gained 5 or more grades A*- C (9-4)	78%	85%	84%	82%
Percentage of pupils with 5 GCSE A*-C (9-4) grades, including English and Maths	73%	79%	81%	78%
Attainment 8 Score	55.79	55.39	57.85	56.34
Percentage of pupils achieving a 'standard' pass in English and Maths (Grade 4)	75%	82%	87%	81%
Percentage of pupils achieving the English Baccalaureate	43%	39%	56%	46%

Figures correct at time of printing.

Destination of Leavers Summer 2018

Anglia Ruskin University	Animal Behaviour
Anglia Ruskin University	Nursing (Child)
Arts University Bournemouth	Film Production
Aston University	Politics with International Relations
Bath Spa University	Music
Bath Spa University	Theatre and Digital Production
Bournemouth University	Industrial Design
Bournemouth University	Marketing Communications with Advertising
Brunel University	Mathematics and Computing with Integrated Foundation Year
De Montfort University	Drama
De Montfort University	Fine Art
De Montfort University	Forensic Science
De Montfort University	Mechanical Engineering
De Montfort University	Midwifery
Falmouth University	Press and Editorial Photography
Imperial College, London	Mathematics
King's College London	Physics
Kingston University	Forensic Science
Lancaster University	Business Analytics and Consultancy (Industrial Placement)
Lancaster University	Earth and Environmental Science (Study Abroad)
Lancaster University	Physics
Leeds College of Music	Music (Production) (BA)
Leeds College of Music	Music (Songwriting)
Leeds Metropolitan University	Events Management
Liverpool John Moores University	Criminology

Liverpool John Moores University	Media, Culture, Communication
London Metropolitan University	Textile Design
London South Bank University	Psychology
Loughborough University	Automotive Engineering
Loughborough University	Computer Science
Loughborough University	Computer Science and Artificial Intelligence
Manchester Metropolitan University	Business Enterprise/Marketing
Medway School of Pharmacy	Pharmacology and Physiology With Integrated Foundation Year
Middlesex University	Veterinary Nursing
Newcastle University	Economics
Newcastle University	English Literature
Newcastle University	English Literature
Newcastle University	Medicine and Surgery
Newcastle University	Psychology
Norwich University College of the Arts	Fine Art (including Year 0)
Nottingham Trent University	Broadcast Journalism
Nottingham Trent University	Business Law
Nottingham Trent University	Business Management and Marketing
Nottingham Trent University	Costume Design and Making
Nottingham Trent University	Fine Art
Pearson College	BA (Hons) Business Management
Point Blank Music School	BA (Hons) Music Production and Sound Engineering degree (3yr pathway)
Queen Mary, University of London	Economics and Finance
Queen Mary, University of London	Mathematics
Southampton Solent University	Trend Forecasting
St George's, University of London	Biomedical Science
Swansea University	Sport and Exercise Science

Teesside University	Concept Art
University Campus Suffolk	Radiotherapy and Oncology
University of Bath	Biology (With Professional Placement)
University of Bedfordshire	Sport and Exercise Science
University of Bristol	Building Surveying
University of Bristol	Chemistry
University of Chichester	Dance
University of East Anglia	English Literature
University of East Anglia	Psychology with a Year Abroad
University of Essex	Biological Sciences (Including Year Abroad)
University of Essex	Business Management and Modern Languages
University of Essex	Philosophy (Including Year Abroad)
University of Essex	Psychology (Including Year Abroad)
University of Essex	Sports Therapy
University of Greenwich	Architecture
University of Hertfordshire	Film and Television (Production)
University of Hertfordshire	Law
University of Hertfordshire	Nursing (Mental Health)
University of Hertfordshire	Sport and Exercise Science
University of Kent	Biomedical Science
University of Kent	Physics with a foundation year (4 years)
University of Kent	Sociology and Politics
University of Leeds	Aviation Technology with Pilot Studies
University of Leeds	Business Studies with Foundation Year
University of Leeds	Chemical Engineering
University of Leeds	Fine Art
University of Leeds	Fine Art with History of Art
University of Leeds	Geological Sciences (International)

University of Leeds	Philosophy, Psychology and Scientific Thought
University of Leeds	Sociology
University of Leicester	Medical Genetics
University of Leicester	Medical Physiology
University of Lincoln	Business and Management
University of Lincoln	Business and Management with Professional Practice
University of Lincoln	Computer Science
University of Lincoln	Computer Science
University of Lincoln	Drama and English
University of Lincoln	Graphic Design
University of Lincoln	History
University of Lincoln	International Relations
University of Lincoln	Law and Criminology
University of Lincoln	Psychology
University of Liverpool	Business Economics
University of Liverpool	Business Economics with a Year in Industry
University of Liverpool	English Literature
University of Liverpool	Law
University of Liverpool	Law with a Year Abroad
University of Liverpool	Law with a Year Abroad
University of Manchester	History
University of Nottingham	Environmental Biology
University of Nottingham	Finance, Accounting and Management
University of Nottingham	Geography
University of Nottingham	Law
University of Nottingham	Mathematical Physics (4 years)
University of Plymouth	Events Management
University of Portsmouth	Criminology and Criminal Justice

University of Portsmouth	International Relations
University of Reading	English Language and Literature
University of Reading	English Literature
University of Salford	Media Make-Up for Fashion
University of Sheffield	International Business Management with Study Abroad
University of Sheffield	Journalism Studies
University of Sheffield	Journalism Studies
University of Southampton	Politics and Economics
University of Strathclyde	Business
University of Surrey	Law
University of Sussex	Business and Management Studies (with a professional placement year)
University of Sussex	Law
University of Sussex	Mechanical Engineering
University of Sussex	Psychology with Neuroscience
University of Sussex	Psychology with Neuroscience
University of the Arts London	Fashion Contour
University of the Arts London	Fashion Design and Development
University of the Arts London	Fine Art
University of the West of England, Bristol	Optometry
University of Warwick	Biochemistry
University of Warwick	Computer Science
University of Warwick	Engineering
University of Warwick	Engineering
University of Warwick	Mechanical Engineering
University of Winchester	Primary Education with QTS (4 years)
University of Worcester	Drama and Performance
University of York	Economics

University of York	Economics and Finance
University of York	Social and Political Sciences
Degree level Apprenticeship	Engineering
Higher level Apprenticeship	Accountancy
Higher level Apprenticeship	Accountancy
Higher level Apprenticeship	Banking
Higher level Apprenticeship	Business
Direct to employment	5 Students
Employment with Training	2 Students
Gap Year	6 Students